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Mathematics

. Ratio
The relation which one quantity bears to another quantity of the same kind, showing
the number of times one quantity is contained in another is called ratio between the
two quantities.

The ratio a:b represents a fraction %

The quantity in the numerator is called antecedent and the quantity in the
denominator is called consequent.

Example:

The ratio of Rs. 25 to Rs. 50 is 25: 50 or % or 1:2

The ratio of 5 km to 600 m is 5000: 600 or % or 25: 3

1. Composition of Ratios
1) Compounded Ratio
The compounded ratio ofa: b and c:dis ac:bd
The compounded ratioofa: b, c:dand e : fis ace : bdf

2) Duplicate Ratio
The duplicate ratio of a: b is a2 : b2

3) Triplicate Ratio
The triplicate ration ofa: b isa3: b3

4) Sub - duplicate Ratio
The sub - duplicate ratio of a: bis va : Vb

5) Sub - triplicate ratio
The sub - triplicate ratio ofa: bis ¥Ya : b

6) Inverse Ratio
=>b:a

The inverse ratio or reciprocal ratio of a: b is

QR
S|

1. Comparison of Ratios

Leta:band c:d be two ratios, then Hage |
1
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(i) a:b>c:difad >bc
(ii) a:b<c:difad <bc
(iii) a:b=c:difad =bc
Iv. Ratio of greater inequality or lesser inequality or equality
1) Aratio a: b is called a ratio of greater inequality ifa > b
e.g. 4 : 3 is the ratio of greater inequality
A ratio of greater inequality is decreased if the same positive number is added to

both the terms of the ratio.
4+2

4 . 4 _ 6
= Se— 1.8, =2 =
37 342 37 .5
Aratio of greater inequality is increased if the same positive number is subtracted
from both the terms of the ratio.
4 _4-2 . 4 _ 2
= —— B = =
3 3-2 3 1
2) Aratio a: b is called a ratio of less inequality ifa <'b
e.g. 3: 5 is the ratio of less inequality
A ratio of lessiinequality is decreased if the same positive number is added to both

the terms of the ratio
3 _39g 5

. 3
< e, - =
5 " B+2 5 7
A ratio of less inequality is decreased if the same positive number is subtracted
from both the terms of the ratio
3 8-2 3.1
->— 16 - > =
) 57 3
V. Proportion
Four quantities a, b, ¢ ,d are said to be in proportion when the ratio of first to the
second is the same as the ratio of third to the fourth

iie,a:b=c:dora:b::c:d

The terms a and d are called extremes and b and c are called means.
e.g.2,5,12,30 are in proportion,
because2:5=12:30

1) Continues proportion

Hage |
?
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. . . . . a b c
Four quantities a, b, ¢ ,d are said to be in continued proportion, when ~ S

2) Mean proportion (Geometric Mean)

If three quantities a, b and c are in continued proportion, then

a b
—=-=>b2=ac
b c

Here b is called the geometric mean of a and c

VL. Some useful results on proportion
1) Invertendo
Ifa:b::c:d,thenb:a::b:c

orl = @222
b

Z

d a c

2) Alternendo
Ifa:b::c:d,thena:c::b:d

or = @Ezf
b

L
d c da
3) Componendo

Ifa:v::c:d,then(a+b):b::(c+d):d
a c atb c+d

res i @ S

4) Dividendo
Ifa:b::c:d,then(a-b)::(c+d):(c-d)
0 a _ at+b c+d
r—=

c
Bl il
d a—b c—d

Some important points

1) The value of a ratio remains same, if both the antecedent and the consequent are

multiplied or divided by the same non - zero quantity
a a/m

2 =% nd 2 =" where m # 0
b mb b b/m
2) The ratio of two fractions can be expressed as a ratio of two integers

e.g. Z.Z then this ratio is equal to ad : bc
b'd

Hage |
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3) Two quantities are said to be commensurable, if their ratio can be expressed exactly
by the ratio of two integers, otherwise the quantities are said to be incommensurable
e.g. The ratio of 20 m to 12 m is 20 : 12 = 5 : 3, thus 20 m and 12 m are
commensurable quantities.
e.g. The ratio of m to v/2 can not be expressed or ratio of two integers, so wand V2
are incommensurable quantities.

4) If four quantities are in proportion, the product of extremes is equal to the product
of mean.
a:b::c:d=>product of extremes = product of mean
= axd=bxc

5) the mean proportional between any two numbers is equal to the square root of their

product
b =+ac

6) the fourth proportional ofa, b, cisd,ifa:b=c:d
7) the third proportional ofa,biscifa:b=b:c

8) if some ratios are equal, then each of these ratios is equal to the ratio of sum of all

antecedents to the sum of all consequents.
If% = 2 = ? = e Then each ratio is equal to

atctet-
b+d+f+--

9) ratio of more than two quantities can be determined by as follows
if%zgand§=§=>A:B:C=ac:bc:bd

b

similarly

ifézg,gzﬁand£=3=>A:B:C:D=ace:bce:bde:bdf
B b'c d D F

this type of ratio is known or Continued ratio

10) if in x liter of mixture of two quantities, the ratio of two quantities is given by a : b
and the second quantity is increased by y liters to make the ratio c : d then y is given
by

(ad-bc)
(a+b)xc

Hage |
4
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Easy Level MCQs:

1.Express the ratio 75 : 200 in simplest form
75 : 200 0BT, IVY CRITO SBBB
a)3:5 b) 332
c)3:4 d)3:8

2. Express the ratio 75 : 100 in simplest form
75 : 100 0 HBSIY, ITY CRITO SBBB
a)3:5 b)3:2

c)3:4 d)3:8

3. Express the ratio 195 : 221 in simplest form
195: 221 BT, VY TRBTO SBBB

a)13:15 b) 13:12
¢ 15:17 d)3:8

4. Compare the Ratio 2 :5and 9: 5
2:533)9: 5 D@33, Beed8 08

a) 10 < 45 b) 10 > 45
c) 10 =45 d) None of these

5. Compare theRatio3:7and 2: 5
3:7 D) 2: 5 0D@eBIRY, Beeds o8

a)15< 14 b) 15 >14
c)15=14 d) None of these

6. Compare the Ratio3:7and 2: 5
3:7 D) 2: 5 0TI, BRed 08

a)15< 14 b) 15 >14
c)15=14 d) None of these

7. Compare the Ratio 3:4and 4: 3
3:4 ) 4: 3 0TI, BB 08

a)12<12 b) 12 >12
c)12=12 d) None of these

8. Compare the Ratio1:4and 1: 3
1:4 23 1: 3 0TI, BRedS o8

a)3<4 b) 3>4
0)4=4 d) None of these

9.In a year, Rahul earns RS 15000 and saves RS
5000 what is the ratio of money that Rahul earns
to the money he saves?

200 SREBO, Tade* RS 15000 RO=HZIN DR)
RS 5000 cu9@S Comef NORE B DR

T LLIDT BEHT DTS OR)?
a)l:3 b)'3:1
c)4:2 d2:1

10. There are 80 teachers in a School of 3200
students. What is the ratio of the number?

3200 JBFRPDS zoJabd 80 2330wT.

KSoaizso:b DTS o d)?
a)10: 20 b) 20: 10
) 1:40 d)40:1

11. Divide Rs 2420 among A, B, C in the ratio 8 :
95

de 2420 @RS.)* D,0,d3R38:9:5 @Rbmédém
239Nd

a) 880,990, 550
c) 880, 980, 670

b) 880, 990,540

12. The ratio between two numbers is 3: 4 and
their sum is 490. Find the numbers ?

OO JodNY SIS ODDBY 3: 4 DR

oNY  He3Y 490 SAB.  RosnY
B0RHEAND?
a) 210, 280 b) 210, 240 ;

age |
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c) 210, 260 d) 210,290
13. The sum of the square of three numbers is
116 and their ratio is 2: 3: 4, the numbers are?

SR oY e SpIY 116 D) oYY
DT3B 2: 3: 4 8NG, JoNW WeHhY?

a) 2,3, 4 b) 4,6,8
0)4,9,16 d)8,12,16

14. The ratio of the numbers of boys and girls in
aschool is 2 : 5, if there are 350 students in the
school, the numbers of girls in the school are.

200 ZoSaDY WBND D3 WTDNHT Jos v

oDEBY 2 : 5 ©AE, S 350
IBEROPT, TISH BB Foss,
0w BBD.

a) 200 b) 275

¢) 225 d) 250

15. The sums of money are proportional to 8 :
13. if the first sum be 48. The addition of two
sums are.

363 ZRW 8 : 13 11 ORVTISIODIS. SPTO
Sp3 48 ©AGY. oS SeInY  Jeaed

B0 dBALO.

a) 126
c) 120

b) 124
d) 128

16. Two numbers are in the ratio 8 : 3 and their
sum is 242. Then, find the difference between
the two numbers.

ST Fod,Nwd ODTB 8 : 3 DI LINY SR
242. 3038, 0B BoakNY IDAIT BRI,
S0 BAD.

a) 100
©) 110

b) 105
d) 115

Copyright © All Rights Reserved | https://www.spardha.guru

17. Two numbers are in the ration 7 : 8. If 3 is
added to each of them. Their ratio becomes 8 : 9.
The numbers are final ratio number?

BB3T 7 : 8 89 o0 Rosni9s. 3ake0n8n, 3
BeBITBS. LINY vDBSY 8 : 9 BrHIB.
RBoas,Rw 08 BT Boal, BoTRBD.

a) 14,16 b) 24,27

021,24 d) 16,18

18) Two numbers are in the ratio 7 : 8 on adding
3 to the first and 8 to the second, their ratio
become 3 : 4. Then find the number

o8 JoNW SRTOIDTS, 3 DB 8 O
QCBI0LTB, JeBITN 7 : 8 DTBTODS,
OPYNY ODTBY) 3 : 4 BHBT. 03T Foad 0D,
BoRdBAO

a) 22 24
) 21,24

b) 24,21
d) 12, 18

Moderate Level MCQs:

1) The ratio between two numbers is 3: 4 and
their sum is 490. Find the numbers.

QT oMY SIS DTS 3: 4 DR
oPYny SpSY 490 ©NT. JoskndSy

B30t &HBAVO.

a) 210,280
) 280,230

b) 210, 240
d) 230, 220

2) A, B,Cand D are four quantities of the same
kind suchthat A: B=3:4,B:C=8:9 and
C:D =15:16. Find the ratio
A B C 223 D ode Oedad moew,

JreeanwoNd), A:B=3:4,B: C=8:9 D)

C: D = 15: 16. exbameaash SobbBMO |
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a) 30:34:45:48 6) Inamixture of 60 litres, the ratio of milkand
b) 45:33:55:36 water is 3 : 1. How much water should be
c) 30:40:45:48 added to make the ratio 2 : 1?
d) 33:40:55:32 60 Oee30° DFHTY, T DB edI
3) In an examination, 25 students out of 70 ODBBY 3 : 1 8NS. 2 1 1 ODDBI,
scored less than 50% marks. Find the ratio B ORD) e JFedJ23eR)?
of number of students who scored 50% il '
marks or more to the number of students 2) ig ?’Eres 2) 11; i}tres
who scored less than 50% marks. 9 e ) REEs
S0egabg, 70 9Q 25 o‘f)m?@Fﬁ%i) 50% 3,03 7) Aand B have incomes in the ratio 5: 3. The
3D ©OBNYRY, AP0, 50% ez expenses of A, Band C are in the 8 : 5: 2. If
C spends Rs. 2000 and B saves Rs. 700. Find
033,038 T, VoBNY, NPIT TRV the saving of A.
Road; D) 50% 3,03 3B WoZNYRY, NPIT A D) B W 5 : 3 oDz3TY swoahSIY,
QT BENY Roadad D TSI BR00T. A, B D) CI SYnwwr8:5: 2 BO.
B0 &BODO. C b o8RBT dr. 2000 DD D) BvPSad
a) 8:9 b)9:5 de. 700. A S 60920, Bo@DHBAO.
9 & )92 a) 1300 b) 1500
4) Find the ratio of third proportional to 12 €).-1400 4).1600
and 30 and the mean proportional of 9 and 2ab P
2 Bt R =+ TV find the value of — +
12 @3 30 3 SwoSe ObTIIT P S
ODTBIF, DD 9 DF) 25 T JoeIO x—b
"' . 2ab x+a . x+b
O TBIR, BoBHBAO. X= P 8NZ3, | + —b S PUBIY,
a) 2:9 b)3:2 30 &HBANO
c) 5:1 d)3:1l a) 2 b) 3
c) 4 d) 6
5) What s.hé)uld be add.ed?to the terms of the 9) An ornament weighs 12.5 gms of which 2.5
ko 3_, asto get2: 3? gm is pure silver and the rest alloy. Find the
2 : 3 Sdabeny oD@HB 3 : 5 8 dobadridrt ratio of pure silver to alloy?
O SedJ3e)? 200 32386y 12.5 Me,0 BerH3T 93T 2.5
a) 0 b) -11 Me,0 BF A, D) 2093 D3 pes. DG I,
9 -1 01 D) DB LEBE ORISR, BoHAD.
a) 1:9 b)1:5
Hage |
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c) 1:4 d)1:3

10) A man divides his property so that his son’s
share to his wife’s and the wife’s share to his
daughter are both in the ratio 3 : 1. If the
daughter gets Rs. 10,000 less than the son,
find the total worth of the property.

WY JPIAD BJ BT, IPBDBIS
853003 &3S DA T TR BoB3r D)
BoB3W Do ©II DR VTR
ODSBY 3 : 1. DA Te. DrANeS
10,000 38z, & we) DB
B0 HBAO.

a) Rs.16430
c) Rs.16554

Practice Question:

11) TheratioofX:Yis7:9andY:Zis 6:7.The
ratio of X : Z is

X: Yoo @) 7:9dY:Z26:7.X:Z23
T3 B0RDHEAD.

a)2:3 b)3:2
0)1:2 d)2:1

b) Rs. 16250
d) Rs. 16780

14) A, B, C, D are four numbers sothat A: B = 2
: 3BEE =445, CHD=548 théeh A4D is

A, B, C, D Soew, c‘u’oa%ri%b esdoaodA:B =2:3,B
:C=4:5C:D=5:8 S0@83A:D eodze3
0SB

a)2:3
c)1:3

b)3:2
d)3:1

15) If 12 : x ="15: 3, thenis

12:x=15:3 sNgdd, x Claleiklng
a)2- b) 22
0232 A2

5 5

16) The third proportional to 12 and 30 is

12 @) 30 T 0TIt ODTBIY)

a) 40 b) 45

c) 50 d) 75

17) The fourth proportional to 3,4 and 15 is
3,4 D) 158, D0, Je udToBDNTD
a) 20 b) 18

c) 17 d) 15

i SITX 2 é ::21:50, then the value of x is

X:21/3::21:50 8NGT, x I S2e), 8o &BAO.
27 49

3)51 b)51

19) Ifix1yi=P5 | 4 theri{4x+ Dy)k (58Xt 2y) is

x:y=3:4 g3 (4x + 5y) : (5% : 2y) e

B0 &BADO.

a)4:5
¢) 48:15

b)32:7
d) 10: 21

20) If 15% of x is the same as 20% of 'y, then x :

y is

15% x 20% y aboZabe *GT, F03T x : y SR
Clalat

a)3:4
c)17:16

b) 4:3
d)16:17
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21) The sum of the squares of three numbers is 25) I have one-rupee coins, fifty paise coins and
116 and their ratio is 2 : 3 : 4. The numbers are. twenty five paise coins. The number of coins are
D ‘—-\;ogj?sm} SnenY 3357 116 D) Py in the ratio 2.5: 3 : 4. If the total amount with me

U IS, T is Rs. 210. Find the number of one-rupee coins.
OD@TIF) 2 : 3 : 4. Joad,RNYy, Bo S3 w9 womd deTIA FRNW, DI ByJ
a)2,3,4 b)4,6,8

&) 4,9,16 d) 8,12, 16 msaérﬁw D) 2 ST ééro’ msazsﬁ@d. mesasrivé
KSO&S;S 25:3:4 @Rbmédéﬂd. aiaj( WP AW E),

22) The ratio of the number of boys and girls in SpZ dp. 210. 2208 dezedd me;)zsrw 5033603‘)@(

a school is 2 : 5. If there are 350 students in the B0 HAO.
school, the numbers of girls in the school are a) 90 b) 85
201 Tofahd MWD ) ENAHT Joss;ad ¢) 100 d) 105

T3y 2 : 5. mdod)Q 350 c‘f)mé@%'ri'?cgd, .
B30 BDEAS Foss. BobBMO 26) Rs. 40? are to be dlYlded amf)nglg A{ Bland G
3 so that their shares are in the ratio-:-:-. The

4 5 6
&) 210 20275 respective shares of A, B, C are

S 2a ge. 407 o) A B @) C Swd donBries
23) Two sums of money are proportional to 88008 ©I8 Jednw  1/4: 1/5: 1/6
8:13. If the first be 48, the additi AL
o S DE R e AGEHOROTY T erhanangmsd. A,B, C ab eare sedbrivh aa@?
Q0D 3T BHDY) BRDTISTODIF a) Rs. 165, Rs. 132, Rs. 110

b) Rs. 165, Rs. 110, Rs. 132
8 : 13§=egp S50 48 HNUE O SRSY ¢) Rs. 132, Rs. 110, Rs. 165
JeBeB 30RDHBAO d) Rs. 110, Rs. 132, Rs. 165
g 15(6) 33 1348} 27) If x? + 4y? = 4xy, thex : y is

x? +4y? = dxy 8NGS, x 1 y SP), B0wBHBALO.
24) Pencils, pens and exercise books in a shop a)l:2 b)2;1
are in the ratio of 10 : 2 :3. If there are 120 €)1 d1:4
pencils, the number of exercise books in the
shop is 28) The third proportional to (x? - y?) and (x -
©oniBodd S UND, SHNAD DB D odezd y) is

2 _ 2 g
BIBAW 10 : 2 : 3 ORDISBODIS. 120 (" -y) DB -y) 1__ o

B OTIVGT, WoRBWODS Ty,aremd PIBNY "‘T"f’_”émﬁd
=T x=y
Rosd; BoDHBAD Q) b
a) 36 b) 48 )x+y d)x-y
©) 72 d) 400

Hage |
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29) Two numbers are in the ratio 7 : 8. If 3 is
added to each of them. Their ratio becomes 8 : 9.
The numbers are.

Q0 IJodNW odz3 7 8. YNy
B,3030088R, 3 ¥R, FedDITT. OJYY VTSP
8 : 9 833, Boad YR, BoRAD a) 14, 16

b) 24,27
c) 21,24 d) 16, 18
30) Two numbers are in the ratio 4 : 5. If 2 is
subtracted from each of them, then their ratio
becomes 3 : 4. The numbers are

QT JBod N 4 : 5 DTIBBOS. VFINYO

830006008 2 o) VST, o[IRY
oddy 3 : 4 envdd. . oV
B0RHBANO

a) 9,15 b) 8, 10

¢) 20,25 d) 12,15

31 IfArB=2: 338 — 4 : 5, @ ¥ =3:7,then
A:B:j@:Dis
A:B=2:3,b:C=4:5C:D=3:7, 3033A:
B:C:D 56)’306 B0RHBAO

a)24:36:45:105 b)12:36:45:105
€)24:36:65:105 d)24:48:45:105

32) The fraction that bears the same ratio to g
and = does to — is
11 33 "
S BB 1 oxe od@IBIRY, BROBNE o) -
3, Claleiliag
4 5
6 7

33) Sides of two squares are in the ratio of 3 : 4.
This perimeters are in the ratio of

QTR F2BRY WONRW 3 : 4 B ODTIBTODS. B

Gilolalat*y] D TIBTODSS
a)5:6 b)7:8
c)3:4 d)6:7

34) In 40 litres mixture of glycerine and water,
the ratio of glycerine and water is 3 : 1. The
quantity of water added in the mixture in order
to make thisratio 2: 1 is

40 See30® NJOX® DB) NedI DIETY, NTVO®
DB 0T ODTBF) 3: 1 BNT. Bs VTSI
2: 1 B DZHTO JeOJUT JedI JIoea

B0t &HBOLO

a) 15 litres
c) 8 litres

b) 10 litres
d) 5 litres

35) If 35% of A’s income is equal to 25% of B’s
income, then the ratio of theirs income is

A's 85o0h3 35% B 8ToadhT 25% 1t FSHNIT,

3T BSTINT D TI3Y) B34,
a)4:3 b} 5 7
e} Zih d)4:7

36) If (x+y): (x-y)=4:1,then (x? + y?):
(-8
E+y):(x-y)=4:16A33 (x% + y?) : (x2 -

y¥) 3 SR, BothdBAO
a)25:9 b)16:1
c)8:17 d)17:8

s Harbibtecicta=stili8andasd b+
¢ = 14, then the value of cis

atb:b+c:c+a=6:7:8dDa+b+c=

14 8AGI, ¢ B BP0, SoDHBS
a) 6 b) 7 i
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)8 d) 14

38) If= = 2 then the value of 22 =7
2y 2 x=2y

X 3 2x+

= = 2e8AQs, 2 =7
2y 2 e x—=2y

a) - b) 7

c) 71 d) 15

39) A scooter covers a distance of 200 km in 2
hours 40 minutes, while a motorcycle covers the
same distance in 2 hours. The ratio of their
speeds is

00 RR,E30° 2 notd 40 AANRYY 200 3cbe

BRUBRY, ZIDIT, BT Seee3od’ Jser e
30T, 2 Notdnvdd hDIW. Yy Send

BB Z0TDHBANO

a)2:3
c)4:5

b)5:4
d)3:4

40) If (4x2=3y?): (2%2 + 5y?)'=i2" 19, thenx:
yis
20T Jew’ (4x2 - 3y?) : (2x% + 5y?) =12:19, R

X:y SNH3T
a)1:2 b)2:3
0)3:2 d)2:1

41) An amount of money is to be distributed
among P, Q and Rin theratio 3:5:7.1fQ’s share
is Rs. 1500, the differences between P’s share
and R’s shares?

3:5:7 o389 P, Q D) R BT BeaS Y,
A30T23eD. Q I woeww Ge. 1500, P S Fedh DA R

S BeDNY SRS B,B2,INW?
a) Rs. 1200 b) Rs. 1500
¢) Rs. 1600 d) Rs. 1900

42) A sum of Rs. 427 is to be divided among A,
B and c such that 3 times A’s share, 4 time B’s
share and 7 times C’s share are all equal. The
share of Cis

2017-1833e 5O 2017-185e¢ oI de. 427
o A, B D) ¢ 1Y DS doriBeies) o33 3
W0 A ab @oew, 4 w0 B ad moew ) 7 w500 C
) T oUy IeIJDNDBB. D
B0 HBAO

a) Rs. 84
c) Rs. 196

Rl

b) Rs. 147
d) Rs. 240

43) 50 paise coins is double the number of 25
paise coin and four times the number of one -
rupee coins. The number of 50 paise coin in the
boxis

50 SR TR,NW 25 B,Bad Toe3,08 SV
Bed), DR 20D ARBID TRY Boak,NoS
o, Bty B, BYHWODS 50 BT ToeB

KSosuias B0RHBANO
a) 64 b) 32
) 16 d) 14

44) 5 mangoes and 4 oranges costs as much as 3
mangoes and 7 oranges. The ratio of the cost of
one mango to that of one orange is

5 I3 BEYNRWD DB) 4 3BYNY 3 3 oI
BN DR) 7 IBYNRW. 20 IS Bed S

D) 206 $3¥ BIabh O@B BorHBAO

a)4:3 b)1:3
c)3 12 d)5:2

H
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45) Last year the ratio between the salaries of A
and B was 3 : 4. But the ratio of their individual
salaries between the last year and this year
were 4 :5and 2: 3, respectively. If the sum of
their present salaries is Rs. 4160 then the salary
of A is now

3YE JIdF A DB B nY IeSINY IDII
TSP 3: 4 8NR). 83T V3 I3 DR B
SRFB DS ST B;0038 BeBTT VD TSP
3N 4: 5 DR 2: 3 8RR, 3T BNI FeSI3
3e3d de. 4160 & A od Jowd &N

SsADHIS
a) Rs. 1040 b) Rs. 1600
¢) Rs. 2560 d) Rs. 3120

46) A mixture contains milk and water in the
ratio 5 : 1. On adding 5 litres of water, the ratio
of milk to water becomes 5 : 2. The quantity of
milk in the original mixture is

QDFF T DR e 5: 1 vDzBTY
BRODDBA. 5 Oe30” Jedy Beddwen, O
DD O3 DDBY 5: 2 8H3T. o
DZHTOS TOR TR706J) Clpleilulng

a) 16 litres b) 25 litres
c) 22.75 litres d) 32.5 litres

Copyright © All Rights Reserved | https://www.spardha.guru

47) Two cylindrical jars have their diameters in
the ratio 3 : 1 and their heights are in the ratio 1
: 3. The ratio of their capacities is

ST SO0BTIEITE 2B BNV VS, 3
: 1 ODBIBEO R 0DDVBT W) OPNY SBTNL
1 : 3 oINS, VIRV BB,V

O T3BI) sNDH3T
aya i b)3:2
€)%l d)27:1

48) in what ratio should tea worth Rs. 10 per Kg
be mixed with tea worth Rs. 14 per kg so that the
average price of the mixture may be Rs. 11 per
Kg?

OR SPB3 WHBY, oz ODHBTO Jeweiedd

38 831 10 oo IPOT  Pmecieodrd
IOIrvIB. 33 881 14 Te. Bermh DFHd

JoeR0 23¢3 Be. 3R 117

a)2:1 b)3:1
©)3:2 d)4:3
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